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Il FegfmyieTa R030-20549

01.

02.

- 03.

04.

0S.

06.

HAAE: § DT Yo ﬁﬁf

st (Physics)
e WP cifPE «3=? (Which one of the
following is a base unit?)
A. Coulomb B. Ampere C. Volt D. Ohm
30m Twe X G2l T A1 amw <fors e @iw
Twow 307 Afe=fE Rea=fez fRed 2? (Suppose,
a body is allowed to fall from a height 30m
without any resistance. At what height will

the kinetic energy of the substance be twice
of its potential energy?)

A. 10m B. 15m C.25m D. 28m
TR IR Fiat Tt (The dimension of the
gravitational constant is)

A ML'T? B.M'L’T
C.M7L’T D.M”L’T

Vo =A< T TR IQEFW X = A sin @t 93 X
= A cos )t T IHA TR Wt oAk T (Two
particles are oscillating at simple harmonic
motion. If their displacements are described
by x = A sin ot and x = A cos @, respectively,
the phase difference between them is)

FFT: 320

T
D. —

4

a8 M wgm JE 2x107'm R o ==
EFBR%IE wim 7= 3x10” T oyt wew Ty
T&¥ T (If the molecular diameter of a gas

molecule -is 2x107°’m and the number of
molecule per cc is 3x10", the mean free path
of a gas molecule is)

A.3x10"cm B.3x107%cm
C.3x10”cm D. 6x107%cm

G AACE 4.9 m/s IT e B e fArs

A2t B.n c.—’zE

T | TS A A N T R weR?

(g=9.8 m/sz) (A stone is thrown vertically
upward with a velocity 4.9 m/s. How long
will it take to return to the ground?)

A.49s B.98s C.1ls D.2s

08.

09.

10.

11.

3% TR (Velocity can be found from the)

A. -7 ERforae fAsd ¢F@%a (Area under a
displacement-time graph)

B. 35-593 @foras fAse ¢F@%e (Area under a
force-time graph)

C. "9-wwy @@ ve  (Gradient of a
displacement-time graph)

D. @@9-7wy @forad v (Gradient of a
acceleration-time graph)

0°C termtara 273 kg 3783 0°C Stam@ e
TR T I GG ARSI TR? @
T WofEE et zen 3.36x10° J/kg
(What is the change of entropy in converting
273 kg ice at 0°C into water of 0°C? The
specific latent heat of fusion of ice is
3.36x10° J/kg)

A.917.28x10° J/K B. 3.36x10° J/KK
C.273x10° J/K D.0JK

g% SR oFEm MG 2m € W Smm i IH
o7 g fRed 8 I wifs =t 7T O TRGA
it @ B AfREx TI? (A copper wire
has a length 2 m and diameter 5 mm. If the
length of the wire is doubled and the

diameter reduced to half, what will be the
change of specific resistance of the wire?)

A % @ wds =@ (Specific resistance will
be half)

B. wefss @q @32 A= (Specific resistance
will remain same)

C. wmif#s @ faeet =@ (Specific resistance will be
double)

D. Smeef#% caty v1ed T (Specific resistance
will be four times)

™ A=2i+oj+k @ B=-2i+)-2k
AR W W S® o W@ TF @ (If

;4.=2z°+cy;+1€ and I§=—2f+]’—2/€ are
perpendicular to each other then the value
of a is)

A -4 B.-6 C.6 D.-2

W g% 7 s M9 40cm @ SR HT
strrenfat oo 3t fa=er= fRgR g g =@ (If
the wavelength of a stationary wave is 40

cm, the distance between two consecutive
nodes or antinodes is)

A.20cm B.10cm -€.40 cm D. 80 cm

wr
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20. fQmr ATt U-235 97 R R[Rfsar @i

12. 127°C % 27°C SEE@E T RS 3 S >
s : , Trte T i IHTe Rsa @ =51 TR? (The
iﬁm WW (Rheciericiencyiotia Carn(.)t S equation below shows fission reaction of U-
engine working between 127°C and 27°C is) 235. Which of the following numbers will be
A.15% B.25% C.35% D. 50% in the empty box?)

13. apfes @ 97 =% (The unit of electric flux 293??U +(;n—)[5—:IBa+39§Kr +3(}n
is) A. 141 B.142 C. 143 D. 144
A. Newton-meter’/Coulomb 2]1. IR COEER CNER F FARA TR 0.01/s 1 @
B. Newton-meter/ Coulomb w4ty (The decay constant of a radioactive
IC). II:IJCWtoné Coulcr)zmb element is 0.01/s. Its half-life period is)

. Newton/ mete

B S s g |, AISD OB C D
TRIFE I Fg 93 wqet® X (The ratio of the ' o | 3 N
coulomb electric force Fg to the a3 A=t 24 ffaw Ffors fg F=ee <
gravitational force F¢ between two electrons “fiffz w9y 1000 kg/m® ze= Ar=eAda TSt 3?
X‘_‘:‘azc:;'(‘)?z Is) NN (The depth and diameter of a well filled with

D 42 v 32 water are 12 m and 1.8 m respectively. If a
C.4.2x10 D. 4.2x10

15. <3 ATHAICE SIS M 60° (It 3 ms pump removes all water from the well .in 24
QT ATFY IA T AEH SHSW ATHIBT QA minutes, what is the power of the pump?
IS Z3? (A projectile is thrown with a The density of water is 1000 kg/m’)
velocity 3 m/s making an angle 60° with the A.1.67H.P B.3.34 H.P
horizon. What is thg velocity of the projectile C.6.68 HP D. 26.72 H.P
3t the max‘muj_ height?) 23. 7% 60 kg swe@ @B T 4 m WHA 2B

3 3 A T 3 m B oS AieE, SIEe @i
A. E S —2—m/s el ol At stfewfe © 3?7 (If a person of weight

16. 6.63 eV CBLTR FOART e (The frequency of 60 kg swings through an amplitude 3 m
6.63 ¢V photonis) - b upon sitting on a swing of length 4 m, what
A. 1.6x10"/s B. 6.63x107/s will be his maximum kinetic energy?)

. gﬁtglt;g aﬁﬁ:ﬁam e ‘g}%;‘gﬁ@ 26 A.660] B.680J C.700J  D.720J
km/hr ¢ SRS ¥ & T B7 e @ argm | 24 TOR il AL AR ﬁﬁam M
s TA? (How much force will have to be F%? (Which of the following electromagnetic
applied on a body of mass 30 kg, initially at radiations has the lowest frequency?)
rest, to i‘,ncrease its velocity to 36 km/hr in 2 A. o1 (Gamma) B. watafze (Infrared)
2‘3;‘98-) n AR C. sfsr@ed (Ultraviolet) D. ¢&-& (X-Ray)

18. «of Fam Sy 7000km TEIERAE Ierem 25. owe ?.l'%'v?l'cw. czn*: R ¥%? (The resistance R in
FFNY AT A Fak (| ToAgzHa AfHEE 2 the given circuit is) -

h T (FHTN Tt ¥8?7 (An artificial satellite S00R] o 6A l

is orbiting the earth in an orbit of radius

7000 km. If the time period of the satellite is —tis - R 300
2 h, what is its centripetal acceleration?) 1

A.1.331 m/s’ B. 2.663 m/s’ oV 1,4, 12+
C. 5.325 my/s’ D. 10.650 m/s”

19. 9.11x10™ kg SR <3 ZraGw o 2.5x10° | A 152 B.20Q C.25Q D. 30
m/s AT S0 oI X G W TN SAexd | 26. IFCS WA (I 3.0x10° m/s | Y ACATE FIHA
gy S Z’? (The de Broglie wavelength afears 1.5 T Fe WeAR @t T (The speed
associated with an electron of mass : oht in alr 8 :

1 6 of light in air is 3.0x10" m/s. If the refractive
9.11x10 kg and speed 2.5x10° mys, index of glass is 1.5, the speed of light in
respectlvelj is) | b
A. 2.9x10% m B.2.4x10% m glass will be) :

C.2 9)(10—10 m D. 2.4)(10—39 m A. 1.5x10" m/s B. 2.0x10° m/s
o C. 3.0x10° m/s D. 4.5x10° m/s
2
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27. <36 V&A@ o cEr Ry 1000 cm 27,

28.

29.

30.

01.

02.

03.

04.

Admission Tech

cewfor wwet ¥ (If the focal length of a
convex lens is 1000 cm, its power is)
A.100D B.1/100D C.1/10D D.1D
i eyt 368 7 ABANTS AR A z7

(The binary equivalent of the decimal

number 368 is)
A. 101110000 B. 110110000
C.111010000 D. 111100000

SN /I EARIRT @mg- (With
increasing temperature the resistance of a
semiconductor-)

A. ¥ (Decreases)

B. 3@ “2 (Increases)

C. #f3@$ 27 7 (Does not change)

D. =57 T (Becomes zero)

ST TR WA WA W faew etfors
S AR T AR T <oA1 Itz YNt F0S ATA?
(Light can be transmitted in a curved way
through an optical fibre. Which one of the
following phenomena can explain this?)

A. e (Dispersion)

B. w999 (Diffraction)

C. sif-weredie afeg= (Total internal reflection)
D. I5f%v1a (Interference)

Answer Keys: 1.B 2.A 3B 4.C 5.C 6.C
§.B9.B10.C11.A12B13.A14.C15.A
17.B 18.C 19.C 20.A 21.C 22.A 23.A
25.A26.B 27.C 28.A 29.A 30.C

2134 (Chemistry)
ffr @R waAbr w&iw g3 1?7 (Aqueous
solution of which of the following ions is
colourless?)
A.Ni** B.Fe" C.Cu*" D.Zn*
2eiZe weneiRe v KOH «3 e Rfdmm Sy 27
(Ethyl iodide on reaction with aqueous KOH
produces)
A. Ethyne B. Ethene C. Ethanol D. Ethane
PVC gz Tomiq @Rf6? (Which one is the

7.C
16.A
24 B

constituent of PVC?)
A. CH=CH B. CH, = CHCI
C. CICH= CHCI D. CH, =CHCH,CI

3Fe(s) + 4H,0(g) =4H,(g) + Fe;04(S);

AH=35 kJ/ mol Rf&Fafo Amm=rym =wg o™
I & Ww@? (The reaction 3Fe(s) +

4H,0(g) = 4Hy(g) + Fe;04(S); aAH=35 kJ/
mol is in equilibrium. What happens to it
when pressure increases?)

A. Equilibrium constant increases

B. Equilibrium shifts to left
C. Equilibrium is unaltered

D. Equilibrium shifts to right

0sS.

06.

07.

08.

10.

11.

12.

13.

14.

BR% ez STigiT TR TR A wIGIw craet w?
(In which form plants absorb urea from soil
through their roots?)

A. H,NCONH, B. NH,OH

C.NQO; salt D. NO, salt

4 A=t AR wioan e g (A complex
having coordination number 4 is)

A. K4[Fe(CN)s]  B. [Co(NH3)6]Cl;

C. [Fe(H,O)s]Cl;  D. [Cu(NH;),]Cl,

7o pH ISTs HIge @16 gt (The compound
used to increase the pH of the soil is)

A. Potassium nitrate B. TSP

C. Dolomite D. Silica
waffemfes @i Remes @ ofen wfs
#1432 (In refining crude petroleum the more
effective operation is)

A. Distillation B. Steam distillation

C. Sublimation  D. Fractional distillation

A ofm «f 777 (Which one is not a periodic

property?)
A. Atomic radius  B. Electronegativity
C. Electron affinity D. Melting temperature

FEASHIRT ANFR TYW TR G R A RS
= IR? (What type of organic compound can
be detected by carbylamine test?)

A. Primary amine B. Aldehyde

C. Amide D. Primary alcohol
TS firen IWTE e e FAh Girre
iy 7 wik? (How many secondary
alcoholic groups are present in glucose
molecule having open chain structure?)

A3 B.4 C.5 D. 6

A A+2BoP RfFnfr w3z zm-liwae
ffeft =@? (Which equation correctly

represents the rate equation for A+2B—P
reaction?)

A. —d[A)/dt=k[A] [B] B. —d[B}/dt=k[A][B]*

C. d[P)/dt=k[P]* D. d[P)/dt=k[A]*[B]?
HCHO ¢ CH;CHO 9% 4] +¥¥ I W)
guarew (Differentiation between HCHO and
CH;CHO requires)

A. Iodoformtest  B. Carbylamine test

C. Ninhydnn test D. Tollen's reagent

e Rl A iy Rwes =7 (Which of the
folowing is the correct  thermal
decomposition order?)

A. BaCO;<SrC0;<CaC0O;<MgC0O;<BeCO;

B. BeCO;> Mg(CO;>CaCO3;>SrCO;>BaCO;

C. BaCO3>SrCO3>CaCO3>MgCO3>BeCO3

D. MgCO3;>CaCO;>SrC0O;>BeC0O3;>BaCO;
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15.

16.

(What is the product of Hoffman
degradation reaction of benza 11 mide?)

A. Aniline B. Nitrobenzene

C. Nitroanilide D. Diphenyl amide
10 mL 0.1 M HCIl 53t¢ S mL 0.1 M NaOH
B (T FAA (T IS ¢1F17 FAWIEA!T (Predict

the ions present when S mL 0.1 M NaOH is
added to 10 mL 0.1 M HC))

A. OH ,CI" Na" B. OH ,CI" H"
C.H",CI",Na" D.H",CI",Na",OH"

25.

26.

IR 3fiFits —OH @3 >C = O IFFA e
CFIN SAXHARTH 1Y 3?7 (The —OH and >C =

O functional groups absorb in which wave
numbers of IR spectrum?)

A. 3400, 1700 cm™" B. 2800, 1700 cm™
C. 3400, 1400 cm™ D. 2500, 1000 cm™
e SR TS 1 7w I WG v R
AT SIFW RS AR %l I (The
conversion of solid state directly into a

gaseous state without passing through liquid
state is called)

17. oz @ ofiter k, @ W9 FRe@ @A? (Which of A. Sublimation B. Evaporation
the following acids has the highest value of K,?) C. Freezing D. Boiling
A. H,SO, B. HBrO, 27. R R waa-=mm erfta Smert i wemr?
C. HNO; D. HCIO, (Which of the following reactions has

18. MR T\Y AT (IXS W (Density of a gas concentration time plot different from others?)
can be determined using) A. First order B. Zero order
A. Arthenius equation B. Perfect gas equation C. Second order D. Fractional order
C. Einstein equation D. Faraday equation 28. TR CMIfoTe aF wiE @ AFRe IR

19. FfERs @ e AeEs ? (What is the T1te? (Which compound contains carbon in
chemical formula of chloropicrin?) more than one type of hybridizations?)

A. F,CIC-CCIF, B. C.Hs—CN A. Cyclohexane B. Benzene
C. CCL-NO; D. ((H,),C-OH 29 Sémamuetnﬁwe & ‘wﬂ? '«3;3‘1“3%3 (What

20. T wfeFem cvm G 7% 79? (Which is not ' : : L

true in case of free radical?) type.of goal is found in Barapukur!a nqne.)
R A. Lignite B. Sub-bituminous

A. Produced by the homoly#ic scission of G-bond C. Anthracite D. Bituminous

B. Produced by the heterolytic scission of 6-bond 30. 5 L 0.1M %3¢ t=fd 3ares F «fA=e Na,CO;

C. It 1s very unstable ), gratew? (How much Na,CO; is required to

D. Number of protons and electrons are equal in it prepare 5 L of 0.1M solution?)

21. 26 wHRFE mORPE @=H ciem M-ce A.106g B.53g C.106g D.53¢g
G YT (The number of electrons in Answer Keys: 1.D 2.C 3B 4.C 5.C 6D 7.C
M-shell of an element having atomic §D9D10.A11.B12B 13.A 14B 15.A 16.C
number 26 is) 17.D 18.B 19.C 20.B 21.C 22.B 23.C 24B
A 12 B. 18 C 14 D 16 25.A 26.A27.B28.C29.D30.B

22, B wPE AW N TWA AT TR FA7 (At _ sff9s (Mathematics)
what condition real gases follows the ideal | O1. | xX*+1| <10 = =41 (Solution of | x*+1| <10 is)
gas equation?) A. -3<x<3 B.-3<x<3<3
A. Low temperature and high pressure C.-3<xs3 D.-3sx<3
B. High temperature and low pressure 02. 1,2, 0w 43w fex wwRf¥E weaefm 0y Wﬁ"
C. Absolute zero temperature s 2 war Rere? (How many three digit
D. High pressure numbers formed by 1, 2, 0 are divisible by 2?)

23. 0.01 M HCI 53t pOH @2 pH = (The A6 BB G4 D. 12
pOH and pH of 0.01 M HCI $olution is) 03. f(x)=sinx«aR g(x)=x*z@ (fog)(N7/2)
A. 13,1 B.14,0 C.12,2 D. 1,13 T T 'R (If f(x) = sinx and g(x):xz,

24. Wi W v H,SO, 93 And Taee = .
e | et et zeAt (Ethyl alcohol is heated then the value of (f < g) Wz 12) i
with conc. H,SO,. The product formed is) N 1 B 1 C ﬁ D. V2
A. CH3COOC2H5 B. CzI"Lg C. C2H2 D. C2H6 ' \/5 . 2 . 2 E

8 § —
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05.

07.

10.

11.

. | dy
™ y=sin" (Sinx) &, -Jy\'m @ (f
X
1 dy
1 .
=SIn (sinx), then—is
y (sinx) . )
A. sinx B. cosx C.x D.1

3xX°-1=0 e o, B,y T o+ B+ y @R
7= (If oy, B, Y are the roots of 3x’-1 = 0, then
the value of o'+ B+ 7' is)

1
A -1 B.0 C. 5 D. 1
2 =x+ iy T | z-5| +] 2+5| =16 fcf = (If 2 =
x+ iy, then | z—5| +| z+5| =16 represepts)
A. Circle B. Parabola

C. Hyperbola D. Ellipse

1 i | ]
-=—— T o 93 R (If = —
a+li Q-1 a+i a-i

then the value of o is)

I
D. ——
2

s (A, B)

Al B.L  (C.-l
2

3x-1 A N Bx+1
x+D(*+1) x+1  x*+1
q% V¥ TR (In the identity (4, B) equals)
A .(-2,-2) B.(-2,2) C.(2,-2) D.(2,2)
A={l, 2, 3, §, 9} ax B={l, 2, 9, 10} T
(A/B)AB/A) @ 7R TR (If A={1, 2, 3, §, 9}

and B={1, 2, 9, 10}, then (A/B\XB/A)
equals)

A {3, 5} B. {1,2,9}

C. {3,5,10} D. {1,2,3,5,9,10}

%(e‘ —-e ) yrfon R BF? (What is the

1
expansion of the series-z— (e"—™)7)

3 5 3 5

A. x—x +x —... B. x+x +x +...
31 5 31 5
3 S 3 5
X X
C. l+x+x +x +..D. - x————-—...
315 3 5

T 33 (Solve): se¢ O+tart 9=-§ 0<O<rm

A._zt,_Szt B._it’57[
6 6 6 6
.2 p. 2,57
6 6 6 6

12.

13.

14.

15.

16.

17.

18.

19.

sin (A-—30°)+ sin(150°+A) < = (The value
of sin (A-30°) + sin(150°+A) is)

1
A. ——cos 4
2

B.0O C.cosAD.sinA

% 98=rt =X, S cosO cas20 cos 40 w7 TR (If
90=mt, then the value of cos@ cos20 cos 40 is)
1 1
A. — B. —
9 8

tan™ 1 -1 1 el
x+§ +tan x—g =tan 2%¥=, x @R

C.8 D.9

R1C (Iftan'l(x+§)+ tan"(x—%) =tan ' 2,

then the value of x is)

A.—é B.—lC.l D.z
6 3 3 3

y’+4x+2y—8=0 *argean NER= 2R (The vertex
of the parabola y*+4x+2y-8=0 is)

9 9
AZ-1| B.|=2,1| C.(0,2) D.(2,0
A (4, 1) ( 1 ) 0,2) D.(2,0)

P=5{-3]+2k codmm®m Q=2 + -2k
S33 wfSrwet (Projection of Qz 2i +}—21€
on f’zgf—3}'+2l€ is)

A. : B- 3 C. 2 D. :
V38 438 V38 438
2x+3y—4=0 @R xcoso + ysing = p 932
Tt fAeit = p @ R (If 2x+3y—4=0
and x cosa + ysin = p represent the same
line, then the value of p is)
4

A. L B- Z C. : ——
Vi3 V13 413 Vi3
X =0 @@ 3x—y+1=0 aerwm s 3
»3 W] (The acute angle between the
straight lines x = o and «/—3_x —y+1=0is)
A. 30° B. 45° C.60° D.75°
5x—T7y-15=0 R B9 TW g (2, -3)
Rt sz IR 2 (The equation of
the straight line passing through the point
(2, —3) and perpendicular to the straight line
Sx—7y—-15=0 is)
A. 7x-5y-29=0
C. 5x+7y+11=0

D.

B. 5x~7y-31=0
D. 7x+5y+1=0
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y-5r%e3 (0, 4) Fqre =t 3=z R &% S5x—Ty—2=0

20. 10
1 v
@R TR WY a7 ANt =@ (The equation | 27. (sz ——i}? @ fgRere x &S A W=
of the circle touching y-axis at (0, 4) and centre (The term independent of x in the expansion
lying on the line 5x—7y—2=0 is) 1)
A. X*+y*+12x-8y+16=0 of [2x2 —-2—3-) is)
2,2 _ X
BSOS AIS! A.340  B.640 C.740 D. 840
C. x+y —12x-8y+16=0 28. 'MATHEMATICS' ==f53 Ifefis o asmw
D. x*+y*+8x+6y—40=0 ST AT TG AT 1 I T+ 2ree? (fn
2 4 V= 5 how many ways the letters of the word
SO TR LR S ,G S Wt‘ﬂ, oT e I\IATHEN'IATI%S ' can be arranged when the
(The lengths of the major and minor axes of first and the last place will be fixed for 'T'?)
the ellipse 4x°+ y’=2 are respectively) . A. 10080 B. 9680 C. 50720 D. 90720
A. 4 and 2 B. 2 and 4 29. «=fB SRR fagtar AT AT XA
' ' TRFTS IS 6, 10, 14 933 =R &= @om
C. V2 and2+/2 D. 2v/2 and V2 #If&a T 2 (The magnitude of the resultant
. cos x . posx of the three velocities of 6, 10, 14 units
22 lma «Z W9 (The value of ,hm acting at a point along three sides of an
7Y cosx =0 cosx equilateral triangle in the same sense is)
IS) A. 4+/3 units B. 7+/3 units
A e B1 C 1 D 0 C. 10+/3 units D. 15+/3 units
' ' e ‘ 30. <3 INCH ot oA, ot AFE ¢ I T = =TE |
4 , . ATSITE Ot I (St Jra {6 1@ Em RN ANIIAL
- y %57 (There are 3 red balls, 3 green balls and
e J S(x)dx =57 .[ S Bx+1)dx == (If 2 blue balls in a box. If 3 balls are taken
: 0 randomly, then what is the probability of 2
4 ‘ balls to be green?) |
Jf(x)dx =5 the value of Jf(3x +1)dx is) 15 3 78 13
! - 0 A — B.— C.— D. —
5 4 5 56 7 5 22
A = B — C = D.5 Answer Keys: 1.A 2.D 3.A 4D 5D 6D 7.C
i B GITRILD S BB D 5 102
— — . 2 y . . . : : : : : , :
24. y=xy =0 G @R X"+ y'=16 73 W1 oo 25.C 268 27.D 28.D 29.A 30.A
POt WITw CFLas (*a¥A (The area bounded IR (Biologx)
in the first quadt:ant bzv thJe str?ight lines | o1 w3GPm vl Re@EE @W 4T AR frem-az
y=X, y=0 and the circle x° +y"=161s) frf@ w®%? (At what stage of mitosis cell
A. 27 sq.units B. 3w sq.units division nucleolus disappear?)
C. 47 sq.units D. 57 sq.units A. Prophase B. Metaphase
1 C. Apaphase D. Telophase
25. X 9 PN AT &Yy = x + — Iz v ==y | 02 W‘ﬂﬁ@ﬁmwm(wmchomof
X the microorganism produces scab disease of
ZQA? (For what values of x, the slope of the pototo?)
A. Xanthomonas citri
curve y = x +— is zero? ) B. Streptomyces scabies
X C. Agrobactenum tritici
3 D. Clostridium botulinum
Ax=+2 B1 C+1 D+= 03. ITTROR & 90 T7 @O (FF [FERATT AN
2 ANt IR AP WIFA (4 T IACR? (Which
26. 32 ft/s WAEATT 93 ofi@ s 30° It 93 7@ bacterial gene is introduced in Bangladesh
fiewet [ T 3T SR (A particle is brinja!) GM crop to protect from insect
projected 'with an initi.al velocity. 32 ft/s Xt?:gkrb)bacterimn tunefaciens
making an angle 300 with the .hOl'lZOll. ItS B Bacillus Subti_lis
time of flight is) C. Bacillus thuringiensis
A.05s B.1s C.15s D.2s D. Bacillus amyloiquetaciens
Y
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04.

0S.

06.

07.

10.

11.

12.

13.

N J%fere @ttTe Tfew vt Seewe F:@t TE?
- (Which technique is used to produce disease-

free plantlets?)

A. (RO F#5=° (Meristem culture)
B. &4 ¥1@51@ (Embryo culture)

C. %93 9519 (Axillary bud culture)

‘D. Sy 3155719 (Callus culture)

Rbre =gE WERWMAN ¥? (Which one of
the following has viviparous germination?)

A. Nerium odoratum B. Nymphaea nouchali
C. Calotropis procera D. Rhizophora conjugate
C, Sz 2 ’aﬁ’r s =G? (Which one is

the first stable compound of C, plant?)

A. Malic acid B. Oxaloacetic acid

C. Phruvicacid  D. Phosphoglyceric acid
Cucumis sativus G AN (PN JF&A?
(What type of placentation is found in
Cucumis sativus?)

A. @4 (Basal) B. =¥& (Apical)

C. 9% &46E (Marginal) D. «i7a1251 (Paraietal)
ISR T oM Feerdd et @iRG?
(Which one of the following is starch
containing feucoplast?)

A. Amyloplast B. Elaioplast

C. Aleuroplast D. Protoplast

fas2 casmﬁcvs S-wRemEAs <¢E? (Which one
of the following contains c-phycocyanin?)

A. Spirogyra B. Nostoc

C. Oedogonium D. Ulothrix

NBI W= (F1F &Sw BF5? (What type of tissue
is jute fibre?)

A. 67 stes 557 (Apical meristematic tissue)
B. 23w wi3eew 557 (Primary xylem tissue)

C. o &k 557 (Secondary xylem tissue)

D. st @i 05 (Secondary phloem tissue)
ARTHITTA I (4T Tedlg TH? (Where from
rhizophore originates?)

A. 79 (Root) B. 316 (Stem)

C. 9ret (Leaf) D. arR&@e (Rhizoid)

A Rt ggme AfRItEERE-aT Swigge?
(Which one of the following is the example
of haploid parthenogenesis?)

A. Solanum nigrum

B. Solanum melongena

C. Parthenium argentatum

D. Taraxacum albidum

3 PGA 3R fFa Inqgew Teoig T@? (Which one
of the following mechanism produces 3 PGA?)
A. @3 5& (Krebs cycle)

B. I16 8 M1 & (Hatch and Slack cycle)

C. Irefen e (Calvin cycle)

D. 5&nT FHIErErRRE=H (Cyclic
photophosphorylation)

14.

15.

16.

17.

18.

19.

20.

21.

22

T et ARFwT g T@? (When is tube
nucleus developed?)

A. & RGBT Ao (DevelopmenT of
female gametohpyte)

B. fAtssfeat (Fertilization)

C. s)”rE_ (Pollination)

D. szoirfaicsa «ifd"gw (Development of male gamete
Ffafenweiz A @Rl iz civfifw tofr =72
(Which one of the following produces
penicillin commercially?)

A. Penicillium notatum

B. Penicillium chrysogenum

C. Penicillium roqueforti
D. Penicillium camemberti

fAtmr Rt o=y @ IR? (Which of the
following produces sperm?)

A. =Genan (Spermatogonia)

B. (&1 (Scrotum)

C. 2PIfveizRe (Epididymis)

D. cae55 afy (Prostate gland)

= @i ¢ofd T? (Where renin is produced?)

A. S8 (In i1ntestine)

B. #ii#8fFte (In stomach)

C. wnifga= afers (In adrenal gland)

D. 3t# (In kadney)

‘sl w1 I0° @ W - (The 'organ of
cortl' is situated in-) |

A. 7G93 (Middle ear)

B. 3=feat (Cochlea)

C. W4gare1a At (Semicircular canal)

D. Tefigat (Utriculus)

crmzart 3R 277 A- (The parasite that
causes elephantiasis is-)

A. Entamoeba histolytica

B. Wuchereria bancrofti

C. Aedes fatigans
D. Culex quinquefasciatus

B ry-Pres 28?7 (Which one is sex-
linked characteristic?)

A. afrFst (Colour blindness)

B. =@ (Skin colour)

C. o 3¢ (Eye colour)

D. %3 #2@is (Cystic fibrosis)

TR =37 IR @ @ ©fes ot zA- (The
hormone related to the bone of human is-)

A. sffg=fe= (Adrenaline)

B. 3= (Insulin)

C. RIR (Parathormone)

D. =B R (Somatotropin)

=A% g 77? (Which one of the following is
not a fish?)

A. ¥4 (Carp) B. @a1t% ©1% (Bombay duck)
C. ﬁﬁl\ﬂaﬁm (Sllverﬁsh) D. 3515f®5 (Catfish)
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23.

)
O

27.

28.

29.

30.

01.

02.

03.

TR WIS AT (T *M1 A ©IF 3= 28- (The
membrane covering the lung is called-)

A. ¢iReITw (Pericardium) .

B. cifasfoam (Periosteum)

C. fs8a1 (Pleura)

D. coffe=f@aim (Perichondrium)

IS TG M ¥ @R A@Es 71?7 (Which
of the following is not required for blood
clotting?)

A. St (Platelets) B. fegtattss (Fibrinogen)
C. 39 (Insulin) D. ¢&mf¥" (Prothrombin)
2= @R #§ge? (Which phylum coral belongs to?)
A. “7tFat (Porifera)  B. fstefqa (Cnidaria)

C. smfaferet (Apnelida) D. e (Chordata)
SHGERE Efpe ME FH @S W AE?
(Which of the following scales is found in
the fishes of the class Chondricthyes?)

A. 13Fs (Cycloid) B. a7<@@® (Ganoid)
C. fostaw (Ctenoid) D. g=t@e (Placoid)
wRefFamge  wElRn SR I T®-
(Malarial parasite with multiple nucleus is
called-)

A. (FIREERE (Phenerozoite)

B. 3% (Schizont)

C. tacaresarks (Merozoite)

D. GrFtarRs (Trophozoite)

@G Hydra-cs 4F 1?7 (Which of the
following is not found in Hydra?)

A. cofaE (Mesoglea) B. fiesitsa (Coelenteron)
C. e (Mesoderm) D. fRtemi25 (Cnidocyte)
¥3 Tted Fcfa «w TE- (The name of the
order of rohu fish is-)

A. Cypriniformes B. Clupeiformes

C. Siluriformes D. Channiformes
fazma @R wmitAE Gt AfSa@iy [T Ir?
(Which of the following helps in protecting
us from diseases?)

A. @fze 392 (Erythrocytes)

B. (¥® 3wa{ (Leucocytes)

C. sysferat (Platelets)

D. ¢a1fa= (Globin)

Answer Keys: 1.A 2B 3.C 4 A 5D 6B 7.D
8A9B10D11.B12.A13.C 14D 15B 16.A
17D 18.B 19.B 20.A 21.D 22.C 23.C 24.C

25B26.D27.B28.C29.A30B |
A<= (Bangla)

fAT6R (BN R WE-SLHY *R7? |

A. Sf&, B. @9, =9q

C. @, &AW D. i, &34

@R feqedt?

A. TgIH B. gtas

C. 7 D. =&

(IR AR =1 7%?

A. FIfeTPeTa B. cstontst

C. gawifq D. Swatoe

04.

0sS.

06.

07.

08.
09.

10.
11.
12.
13.
1I4.
15.

16.

17.

18.
19.

20.

Az AfS 7% @R -9 A AT T
“#feen 2

A. et e B. 43S

C. sl D. ferarga
SfSYITT %" I (I ATF?

A. 3-3tfa tx B. 2-3tfa 43
C. 3-3f2 73 D. $-3tfa st

‘T T (T2 IR IR FACR I'-9 IR ‘qIR TR’
(I I *™7

A. fam B. feifars

C. @ g [reraa D. feraifararas
Ten 4F R faarima Targae (FRit?

A. IR, IAR B. *wfy, Ruafe
C. e, Rafes D. 9wt It
R0 At THIZET?

A. ¥ B.% C.¥ D.=

‘SFfagitea’ =5 FIN A6 AeTt IA?

A.fRem  B. R s C. s#fdfoet D. oR ©F
‘FRY ATNE 9T 468 TF FA W -9 ICW D
AR NALTT THTR?

A. FFEe B, gemars C. IR D. wusre
‘stiTs’ =1t SIS F+ FRH?

A. THISRTS B. %13 At
C. %13 Iret «ifda D. %A S
TN T IR -

A. THCAT o1 B. SR @13
C. =153 Ijf& D. 03T 35
fatsz A wAgeE AN-ReiEre THizad?
A. W T4 B. & 9
C. oIt 11 D. G513 @13
‘TSR’ 1w = }?

A. Toifefes FoE B. = (3e AW
C. a3a 9199 D. Ja= 377

‘FEn I - Tr 2% @vam’ IRom
‘AR’ F?

A.3R4  B. @ C. a5 D. faSiw
‘S Swifte #fR —=fer /'— YAz A I=R?
A =s3e B.¥= C.s =%  D.*=af™
INFANR TS, I AT TANF -

A I TFIT IS B. 303 $4 (IOIH
C. =3 @~y D. 717 +f$re

e Tw7-9 I M-

A=  B.%® C. s D. 9
‘TR WA NY-

A, *rf3oi3R B. wiwicet C. sfewenam D, wefdws
omﬁ’ ‘Ym tﬁio_
A. T IR GO
C. RFS ] AT

B. A5 e 4S5
D. fRwf ofes gom
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21.

22

23.

24.

()
N

26.

27.

28.

29.

30.

‘IR A TSR J G 1°-9 T T[T’
(N TS v Fsfe?

A. T B B. SR T8
C. fSend w8t D. Sfgwaret ¥
‘A A Al ZeE-
A. o™ B. et C. siwga D. 39
faee et fZfS =r=?
A.g® B fRm C.ffs D.aR
=% ?
A TR TT B. 3fSq o=
C. VgR T D. AR TF

. wefAfoet’ ST (TN IFIACT A ATT [ @Tet ITST?
A. SIIAT IR B. Sf¥* a7
C. Arer Iz D. 3f@ 322
fATeR A ‘qSrwt =rwmy Afeww?
A.ffsds B. R@w= C. smiog D. ars&
‘aRE-EeR’ IR IRF pEam MR TR IT
WITR?
A. AT B. 5%2 SItA
C. Qs 827 D. F7i1f3 stz
‘EZFTIN’ T WYTF TRIWET fAAmE I F[}?
A. I E B. S1{# %@
C. 9= fam D. 35gs 3@

‘ST FWRH! AT (BSRR A -9} 5345 T
IFTTS?

A. SIf3 fFanfer a2 Tk B. cxeaifa dssun

C. @R-FSd  D. [T WA =i fF
‘SR WA %4 F94 (AR wifmiw’- shre
Afd7 /TS Sra7 FW2A-

A. fex B.o® C.92 D. @&
Answer Keys: 1.C 2.D 3.D 4.C 5D 6.D 7.B
8.C9.A10B11.D 12.C 13.C 14.C 15B 16.C
17.D 18.D 19.A 20.D 21.C 22.B 23.A 24D
25.C26.D27.B28.C29.B30.B

ENGLISH

Read the following passage and answer
question 1-5:

The pioneers of science education imagined
that 1ts introduction into the curriculum would
erase conventionality, artificiality and
prejudice. So, too in their time had the
humanists thought that the study of the classics
would banish pedantry and superstition.

The chief claim for the use of science in the

leaming process is that it teaches young ones |

some truths about the universe tiat we are part
of, acquaints them with the highlights of

01.

02.

03.

04,

06.

07.

- 08.

scientific discoveries, and at the same time
prepares them to think logically and rationally.

To some extent, these goals have been reached
only in the first of these aims. Young people

who have been given this sort of science
education will know the basics of physics and
chemistry. However, they will know not much
more than what they would have learned by
picking up scientific hobbies or using everyday
scientific appliances.

Choose a suitable title for the passage:

A. The advantages or science education for
young people

B. Preparing students for science education

C. The classics and science education for the young
D. The problems of science education for young people
A 'pioneer’ is a/an:

A. leader B. organizer

C. cheer leader D. champion

What goal has been reached through science
teaching in schools by now?

A. teaching them about important scienhfic discoveries
B. teaching them to think logically and correctly

C. teaching young people some truths about the
universe

D. teaching them about scientific appliances
The opposite of 'rationally’ is-

A. exquisitely B. adequately

C. unreasonably D. imaginatively

. 'Highlights' being used in the sentence as -

A. a noun B. an adjective

C. an adverb D. a participle

Fill in each blank with the most appropriate
word/s (Questions 6-21)

According to some studies, dolphins, whales
and other sea creatures use highly
sophisticated navigation systems.

A. any B. a little C. many D. much
We have to do some research in order to
the possible factors that could affect
the outcome of the project.

A. determine B. refuse C. diminish D. remain
Many people who live near nuclear plants
are concerned. go wrong, the impact
on the surrounding area could be disastrous.
A. Something would B. Something will
C. Should something D. Does something
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Supposedly, digital versaﬁle disks, or DVDs

09. 20. Do you know- the solution the
as they are called, are resistant to problem? ‘
scratching records. A.to B.into C. for D. about
A. much, than B. so, as 21. He for murder.
C. such, that D. far more, than A. hanged B. was hung
10. These differences between the two C. was hanged D. was hunged
photographs with the help of | 22. The correct passive form of 'Does he speak
computer programs. English well?' is -
A. should removed B. must be removed A. Is English spoke well by him?
C.havetoremoved D. could have been removed B. Was English spoken well by him?
11. The government that the projects C. Is English spoken well by him?
| with great success. D. Is English spoken well to him?
A.is confirming, maintained 23. What is the Verb form of the word
B. Confirms, have been mamtampd | 'acquisition'?
C. was confirmed, h.ave.bg:en maintained A. acquiesce B. acquisite
D. confirms, are maintaining C. acau; D :
. . . acquure . acquirement
12. The skill of safe driving necessary to 24. Choose the correct sentence:
LG L many A. Who do the book belongs to?
thousands of people annually. B. Who bel he book?
A. 1s, hurt B. was, will hurt ' - O the book:
C. will be, were hurt D. would be, 1s hurt C. Who does the book belong to?
13. Salma could not tell books were left on D. To whom does the book belong to?
the table. 25. Which one is the correct spelling?
A. whose B.who's C. who D. who is A. entrepreneur B. enterpreneur
14. They like to keep their old houses rather C. iterprenour D. entreprenour
than build new ones it is very difficult | 26. An antonym of 'altruism’ is-
and expensive to maintain them. A. honesty B. philanthropy
A. because B. even though C. tolerance D. selfishness
C. on the contrary D. for example 27. A synonym of 'sanguine’ is-
15. Hydrogen peroxide as a bleaching A. confident B. restless
agent because it effectively whitens a variety - C. hopeless D. bloody
of fibres and surfaces. . 28. What is the Noun form of the word 'defer'?
A.used B.isused C. 1s. using D. that it use A deference B. deferment
16. can be grown on arid land. C. difference D deferrant
A. Only a few crgp B AL E 29. The correct meaning of the word 'senile’ is
C. Only a little crops D. Only little crop ' A serions B. failin
17. There are three kinds of solar eclipses: one ' , T g
/ . C. sensible D. rigorous
is total, another is annular, and . | | |
A. the another is partial B. the partial 1s other 30. The correct translation of "SI (SR T
C. other is partial D. the other is partial I B O’ is
18. The Disney Amusement Park in Japan is A. What did the bear say to you?
Florida or California. B. What did the bear tell to your ear?
A. the largest than the ones in C. What did the bear whisper to you?
B. larger than the ones in D. What did the bear whisper to your ear?
C.larger theonesin Answer Keys: 1.C 2.A 3.C 4C 5.A 6.C 7.A
DRILER AR Hm T T $C9D10D11.D12.A13.A14B 15B 16.A
B ,Hel']e“ l',ef:"‘ed LOLCECRNT A2 L0 U 17.D 15.3 19.B 20.A 21.C 22.C 23.C 24D
in her life.
A. lately B.late C. latter D. latest e
Y0
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